ol

Heu3zeecmHoe yucsno
8 paseHcmee




YpaeHeHuUs

67 - =60
+ 20 =320
350 + 50 > 390
-20 =70
790 - 640 = 150




Llennu ypoka

Hayyumbcs
Haxooumab

Heu38eCMmMHbIU KOMIMOHEeHMmM
CJIO)KeHUSI U eblYUMAaHUS

Cgopmynupoeamsb npaeusna
Haxo)X0eHuUs1 Heu38eCmHbIX
KOMITOHeHmMoa




YT00ObI HAUTH
cnaraemoe,
HYXHO...




Bbinucbieaem paseHcmaeaa,
8 KOmopbIX HEeU38€CMHO:

a) yYMeHbuWwaemMoe;
6) ebiyumaemoe,
8) csia2aemoe




- 400 = 256

- 70=40

- 40 = 258

- 60 =180










YT00bI HAUTU
BblYUTaemMoe, Hy>XHO

Y100bLI HAUTU
yMeHbllaemoe,
HYXHO...

YT00bLI HAUTH
chnaraemoe,
HYXHO...




YT00LI HANTH
yMeHbLluaemoe,
HYXXHO

YT00bI HAUTU YT00bLI HAUTH
BblYMTaemMoe, BblYMTaemoe,
HY>XHO... HY>KHO...




YT00bLI HAUTH
BblunTaemoe,
HY>XHO

YT00bLI HAUTHU
yMeHbluaemMoe,
HY)XXHO

YT00bLI HAUTH
chnaraemoe,
HYXHO...




YT00bLI HAUTH
YMeHbLUaemoe,
HY>XHO

Y10ObI HAUTH YT0ObI HAUTH
BblYMTaeMoe, HyXHO cnaraemoe, HyXXHO




Ne 7(06)
120- X =80
X=120-80

X =40
120-40 =80




MHe ewe MHe 6b1s10
HYXHO... Al 2ot

Hay4yumab







